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10.

Rtapalli Vidyapitha Shraddha Scholarship Examination
February 18, 2018
Subject- Mathematics, Phase |

Time — 1h 15m F.M. -100
Each question is worth 10 points.

In an entrance test, you get 5 points for a correct answer and lose 2 points for a wrong answer.
Rama answered 25 questions and got 62 points. How many questions did he answer correctly?

Calculate the following expressions and write down the numbers in increasing order.
11 11
(=-=),(2.5 x 0.035),(17% of 0.45), and (~—=)
4 5 4 3
When we calculate the batting average in cricket, we do not include the “not-out” innings.
Dhoni’s batting average was 85 runs after he played 5 innings and remained not-out twice. His

next two scores were 25 not-out and O runs. Find his final batting average.

Arectangle is cut into four pieces with the areas of three of them given.
Find the total area of the rectangle.

12 m? 24 m?

16 m?2

If you divide a number by 65 or 91 you get 5 as the remainder. Which number after 2000 has this
property?

Thirty percent boys of Rtapalli take flute lessons while 40% boys take tabla lessons. If Rtapalli
has 60 boys, and 20% learn both flute and tabla, then how many boys do not learn anything?

If M, N, R and P represent different digits in the following addition and subtraction of numbers
then what is the value of P?

M N M N
+RM —-RM
P M M

A 30kg mixture has 30% wheat flour, 60% maida and 10% soojee. Then 10kg of wheat flour is
added to it. What are the percentages of maida and soojee in the new mixture?

Rama and Gopal have same amount of money. Rama gave two-third of his money to Gopala.
Next Gopal returned three-fifth of his total amount to Rama. If Rama has 80 rupees now, find out
how much money they had in the beginning.

How many three digit numbers, divisible by both 5 and 3, can be made using the digits, 4, 1, 5, 0
and 2? No digit is repeated in any number.
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